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(B) ¥+ k22 % & "R HRE - B b A - FRT %
(C) WA AREFERHMESEF > 37 LD &% 5B

D) 5732 ARAPER ;N BELE %y j FLAgp

Wi i B CeH g0t § P % 2 WM T AR A R pin T
> A2 ?

(A) CsH 5050 + 8 Oapy — 9 H,0(,, + 8 COy,,

(B) CsH 505 + 11 O3,y — 9 H,0(,, + 8 COyy)

(C) 2 CsH 5050 + 22 Os¢py — 9 Hy0(,, + 16 COyy)

(D) 2 CsH 505 + 17 Oy, — 18 HyO(, + 16 COy,,
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(A) ¥ F 3 F° 2887551

(B) — 42t 5 k*° &7

(C) & B > BHgk > ¥ L F 4R A
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(B) it &£ 4 L H g8 § d [TA(2)2 VIIA(17)*% =~ % £ Fp 25 &
(C) REWMILEPRERE L ETREIcFBER

(D) A 2 & 5 B 2 AW H &Rk
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(A) % kY 2582563+ 5WpR
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(A) 17

(B) 20

(C) 35

(D) 37

- Bk EF 0 R4 kG £50.00 mLo #- B37.51 g & B
® & 4c>~ﬁ“§ﬁ?"“’;'Ti"\i»_*ﬂiS7.50mL°t“§%fir‘%ﬁ?%)§
(g/em’)F & } iﬂt—?@ﬁ’é’fﬂf?dﬁ? (1 mL =1 cm?)
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TAGB & F o - AP M 450
(A) PH;

(B) H;PO,

(C) PFy

(D) H;PO,
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EEMD(-)

L25°CPF » B - kaR? H;O3 3+ R 54.0x10*M > Bl3%3 %

PEOH B ER F S PM? X ok A E M dk R

(’k £25°CE » kw = 1.0x 10™'%)
(A)2.5x 10" M > 1+
(B) 4.0 x 10" M » #
(C)3.0x 107 M » & 1+
(D) 4.0 x 107" M » &

0.56% % & » E BE27°CT > 1022 ch% B3 BN > 3
BFAM  RlEife o L7 vas o
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4102 %

(L% % &R=0.082L:- atm/K-mol> ® + € :C=12>H=1">
=1

O =16)
(A) CH;OH

(B) CO,

(C) C,H,

(D) C3H,4

T 5 4 ik s :F’ﬁﬂﬁi?

(A) £ 38 & F 3 = & mol/L

(B) % %% ¢ £ 3 128 B »c Jiu (Tyndall effect)

(C) w % “AFA R &Lzt rsr 3

(D) FET » 8B KA FFRBRWH LDZFEF RS

Tl ey XSRS A e B HCRHB R & n
AEXApkr? (RFE: C=12"H=1"N=14>0 =16)

(A) C;Hyy4
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1768 T RBA T > THvi- T grr > BTy #iKe=Kp?
(A) CO,) + 3Hy) == CHy) + HaOyy
(B) 2NOy) = N3Oy,
(C) NOz(g) + Clz(g) — 2 NOCl(g)
(D) CO(g) + 2 HZ(g) — CH3OH(g)

18.% F e m F S 1Y & p30kJ/m01”\;’Z FROE D K RA :
—40 kJ/mol > Rl w» & B & = % ° kJ/mol ?
(A) 70
(B) 30
(C) -10
(D) -40

19.2.25°C~ 1+ # B ™ » 3’2 (C8HI8)h ¥ % = 4258 4o T
2 C8HI8(1) + 25 02(g) — 16 CO2(g) + 18 H20(1) + 11000 kJ
: 50 CO2(g) ~ H20(DE @ 4 & # & A % —400 kJ/mol ~
~300 kJ/mol » B] % *= (CSHIS())shE B 4 & # 4 % %  kJ/mol ?
(A) —800
(B) —400
(C) 800
(D) 5500

207 Al Bk s wH ALE W7
(A) [Ag(NH3)2]
(B) [Co(H,0)4]**
(C) [Ni(CN)4]*
(D) [Fe(C,04)51"
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BB BB BRFE > O ELTREFRT R T AN
REBBTLFERE?
(A) v & %
(B) 48 3
(C) 4F 3
(D) 7 4% 4% 3%

L R - BHBEES A PO Hg Mt B Al 0 AT AR
s R ?

(A) NH;

(B) NH,ClI

(C) 3N HNO;

(D) 3M HCI
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273 %Y EMBRAZ 2R VY THARAEFREEFT T
N e
(A) %&£ 3= k¥ R
(B) J + & fc k¥ &
(C) = b %k 3# &

(D) ¥ Rk /¥% bk R
28.F i F AE R R ATE Y U s BRE S S PRI
(A) & F +

|
(B) * "f ie

29. ¢ drAE AR L E L L
kR AFRII0% F & 4
(A) 70
(B) 80
(C) 90
(D) 100

‘;EL_—]E']‘A\LL VZO%’B"SOHIL‘}% AR b
7 > mL% -k ?

30. l}i‘— /5\ ]ﬁ';. ff}}‘ [Na3C0(N02)6] /p it FE’: > F
|

3L LB AR R - By PG RTLABEA?
(A) F§ it B (OAC)
(B) # p& 3 (NOjy’)
(C) #ifc B (SO,
(D) ¥ pa @ (C,047)

32,8 v dH E Y § 1 F L 4040.04% 0 54 B AR EF 4G
B 53782%  whAdrle R mHFLL Y
(A) 2.22%

(B) 4.04%
(C) 5.54%
(D) 5.87%
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33. ¥
N SRR

TN 13 /]‘%' 3;124%
& * e fh
(A) F i
(B) #
(C) &
(D) de

R 7}1*; L "?‘»U‘ AgNO34f§<—i% 'f%‘ R /}F Kpé‘ ’f{ %' it «f" (CN—)
F R, vd T35 e A ind¥riF 8 g9
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34. Lleblgf‘a
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(A) B R 1 IPe K
(B) A% I F ¢ itk
(C) B 5w 4
(D) 3% E R

35,75 A 2T Uk B PR IT R A Bk ?
(A) " Mkl » @ A&
(B) # & W #& & ﬁ&
(C) #£7% 5 W{wiz
m)%ﬁﬁﬁ?ﬁ

36.% % i T 0 Rk L & (Hg2S04(8))hi% % & & 8x10-4 mol/L > %
L A 2R R F HKsph 5
(A) 1.6 x 10°
(B) 1.6 x 10°°
(C) 6.4 x 107
(D) 6.4 x 107"

3T F e B s %
(A) I'22 Ag(CH;COO)i i €% & 4 ¢
(B) Br # HNO3/% & 7% ke =g 7 TRz d 3R
(C) S,0: & Aghie* R EH ¢ 3%
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384 #0.2121 5 # K B f& 4 (Na,CO3) » & fie @l = 100.00 mL% i » 1M

2804'5"—?‘/;. RE (T ﬁ T Tﬁ% f 3 f—’z %%/\ /}%’ Z_18.10 mL > F

H,SO 2 B F 2 B ER 5 @ ?2 (4~ F £: NayC0O3=105.99 g/mol)
(A) 0.1105 mol/L
(B) 0.1658 mol/L
(C) 0.1810 mol/L
(D) 0.2210 mol/L

39 B R akF T 0 T
(A) = ~F - & Z;_E 5
(B) 33 a-33dk 2 JF Lo My L E'HITAMEF V&
(C) Patk®2 %3 ¥ # * NaOH
(D) ™ NaOH # 73 % %
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